Week 6, Lecture 1

22 February 2024 14:16

In this lecture we begin to look at Trust-Region Methods, taken from Chapters 7-8 of the typed
notes
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Algorithm 5 Determining Size of Trust Region

Choose a maximum size of the trust region, A and an initial guess for the size of the trust region,
Ay. Also, choose a criterion 7 ¢ [0, 1/4) for a descent direction to be accepted.
for k=0,1,2,--- do

Obtain p;. by (approximately) solving Equation (7.3). —s_b = a':j in W '3 ( P«>
Evaluate p, from Equation (7.4). \1 ‘2“ -),{. 0

ifsome condition is true then
Sen=/00e €9, fuSl S (%) = S (Bu+ 8 )
else F"C
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The next step will be to solve for T . TBC.
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